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1 100kN/m#E#BZ % - -~ - —|3mEEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3m%EEZD -~ — - -
zhs 1.00| 0.00 ~ 423 5293 | Znlist | 000 ~ 423 | 2.01 10.15 zh s 1.00| 500 ~ 5.00 52.93 | #nlist | 5.00 ~ 5.00]| 2.01 10.15
9 100kN/m#E#BZ % - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3m%EEZD -~ — - -
zhs 1.00| 000 ~ 6.18 7758 | #nlist | 000 ~ 6.18 | 1.87 9.46 zh s 1.00| 500 ~ 740 7758 | #nlist | 5.00 ~ 740 1.87 9.46
3 100kN/m#E#BZ % - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3m%EEZD -~ — - -
zhs 1.00| 0.00 ~ 7.06 89.61 | ZnLis | 000 ~ 7.06| 1.98 9.98 zhs 1.00| 500 ~ 9.80 89.61 | ZhList | 500 ~ 9.80| 1.98 9.98
4 100kN/m#E#BZ % - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mEEZD -~ — - -
zh s 1.00| 0.00 ~ 6.03 75.51 | Zhlist | 000 ~ 6.03 | 1.89 9.55 zhs 1.00| 500 ~ 7.20 75.51 | Zhlist | 500 ~ 7.20| 1.89 9.55
5 100kN/mM#%#B x5 1.00| 0.00 ~ 0.09 101.37 [3mZEEZ 5 -~ — — —| 100kN/m%#%%| 1.00 (1056 ~ 10.80 101.37 [3mZEEZ 5 -~ - — —
zh s 1.00| 009 ~ 7.88 100.00 | Z#hList | 000 ~ 7.88| 2.23 11.25 zhs 1.00 | 500 ~ 10.56 100.00 | Zh st | 5.00 ~ 10.80 | 2.23 11.25
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100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhs ~
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Th s ~ Zhst ~ Th s ~ Zhs ~
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Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m%E#BZ % ~ 3ImzHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m%E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhs ~ Th s ~ Zzhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
Th s ~ Zhst ~ Th s ~ Zhst ~
100kN/m#E#B 2 % ~ 3ImEHEZD ~ 100kN/m%E#B 2 % ~ 3ImEHEZD ~
ZTh s ~ Zh st ~ ZTh s ~ Zh st ~
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